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CS-603 (C) (GS)
B.Tech., VI Semester
Examination, May 2023
Grading System (GS)
Compiler Design
Time : Three Hours
Maximum Marks : 70
Note: i) Attemptany five questions. i
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i) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Draw the structure of a compiler and describe various
phases in the compilation process. Mention the output of
the following statement; id,=id,+id,*50 at each phase.
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b) Designthe LEX program that recognizes the tokens of a C

language and returns the token found. 6
LEX 50 fE01 o it C 7T & it ) ey & ik
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2. Compute LR(0)items for the following grammar and construct
SLR Parser table. 14
Pr=fiRed a@Ror & Rre LR(0) 5 9 AT &% sl SR
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3. a)

b)

b)
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Differentiate between Top down parsing and Bottom up
parsing. 7
e gra wiikin 3R sfeq o aiiin & fig iR W)
Construct the Recursive Descent Parser with back n'ac!dng
for the following grammar
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How is Stack storage allocation strategy different from
heap allocation strategy? Describe them and mentioning
their merits and demerits. 10
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Explain different Polymorphic functions with suitable
examples. 4
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Explain in brief about different sources of optimization of
basic blocks with suitable example. 8
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Define flow graph? Explain how a program is converted

into a flow graph.
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What is DAG? Construct DAG for the following basic
blocks: 8

DAG 741 &7 Frfeifian gfrard =it % R DAG 1
o
D:=B*C; E:==A+B; B:=B+C; A:=E-D;

Differentiate between S-attribute with L-attribute definition
with suitable example. 6
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Explain in brief about equivalence of type expression. 8
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Discuss about peephole optimization. 6
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. Write a short note on following: 14

Commeon sub-expression elimination
Register allocation

" Three address code
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